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The area of a field in the shape of a hexagon is 2400/3m”* What will be the cost of
fencing it at z18.50 per metre?

(A) 4440 (B) 5920 (C) 5550 (D) 5180

Ans. a

2. TF Ied & X TF AT § W e 4 : 3 F g # ¥ AR sy
#r qRfAfT 56 cm §, af gca &1 AF%a (cm? ) FAT §?

(A) 1007(B) 70(C) 90T(D) 90m

Ans. a

3. T HIAHR 916 A &€ 3@ I9iss ¥ 20 m 3O+ 3| Ife 353 ufa
e #r g @ park 1 AREGRT FI ST @ 7121200 § A 9Ih . T &A%
(m? &) Fa1 82

(A) 9900 (B) 8925 (C) 9240 (D) 9504

Ans. a

4. el gHeFT IS 1 WA ST 20 cm 3R 10 cm & 3R swH
HAATAT T TH-GEY & ara¥ o] AR SWHT &a%er 180 cm” §, & ¥AF
FEATAT 3T T oa1S (cm H) FAT 872

(A) 11 (B) 15 (C) 13 (D) 12

Ans. ¢

5. 37 WAGHS FT &6 (cm’ H) fraar gem Sadr of=m 13 cm 3R st
fa®wot 10 cm &2

(A) 120 (B) 192 (C) 96 (D) 50
Ans. a

6. 3H WHAGAS F1 &F%ha (cm’ H) FFaam grem fSwhr o= 20cm § 3R v

fQsot 24 cm &2

(A) 396 (B) 392 (C) 384 (D)350
Ans. C


mailto:apanacareerssm@gmail.com

7. 331 ABC #, BC Y &faT§ & @ & 2 cm &H g| AC # d€1$ & 10

cm ferF g aRfATT 32 cm 3 Reer A FaF S e & d@1$ (cm A) &
(A) 8 (B) 4 (C) 6 (D)10

Ans. C

8. If the length of a rectangle is decreased by 11% and the breadth is

increased by 11%, its area will undergo:
(A) 1.21% decrease (B) 1.21% increase (C) 13.13% increase (D) 13.13%

decrease
Ans. A

9. T fafd=a srafr & fow, fFd AfA=a gx X fader #ir ar$ 160000 &
ufdr, fows saror aiffe Fafoa gar 8, ded< 163, 654 g ardr 8| afE 3
¥ IX, 3 3af™ & v 39 ufr # Faer BFar sar aY 98 et fFdsr &t
STcT?

(A) 61800 (B) 61675 (C) 61827 (D) 61809

Ans. A

10. I AT HT JAF ST 13% FHA FT § ST, @ TR &b fhea
yfaera &# g seen?

(A) 26% (B) 13% (C) 21.69% (D) 24.31%
Ans. D

11, I 3Tad A 9 &qF H1 11% FH FT & AT, @ FHHT &G fhaa
gfaerd &# g Seen?

(A) 26.78% (B) 13.13% (C) 20.79% (D) 21.69%
Ans. C



12. fordlt goaQels & ReFoT AT 4 cm 3R 12 cm @ WS &AFF (cm?
#H) W &

(A) 8 (B) 24 (C) 12 (D) 36

Ans. B
13.mmﬁmwwmmwm@ﬁaﬁm$m
foram Sirar Sirar 31 e 1 &A@

(A) 3+/3 (B) 8V/3 (C) 2V3 (D) 4V3

Ans. D

14. fFH 9o F I T AATAT WSS ST AT B ged F &G FHT
mmwm#w%mwmwaﬁﬁmwh

(A) = (B) ———(C) ——(D)
Ans. B

15. & FHTE Fefs el Fwefaarg wwor Pser & Fof W IR 39F swad
gamm3it A ¥ frt v W AfFT fFe S 3| 3TF &A% FaAe: H A 8
A/H &8s FATT gRm?

(A) 7 (B)3 (€)= (D) 1/2v2
Ans. B
16. Twelve sticks, each of length 1 unit, are used to form a right-

angled triangle. The area of the triangle is:

(A)10(B) 4 (C)8 (D)6

Ans. D

17. 60° FET FIOT e fFHt Jea-w@s FT &G A 3| Iea F1 RfY C 7 At
A fraad FATT gem?

(A) S (B) == (O (D)=



Ans. B
18. I §F ¥ N, frdll REZaw F ve vyelle frdl geaeR oo @ gl

W & 3R 39F A9, 3 F F Rg w aur saF FANRRwE 3w F =
W @2 AP 3UFT TG 3@ W & FT F oorar & fF 98 72° &1 Hor 1
fere & Fav FC B 39F BOARRT @Err Fr 1w a9 F e 1
Y&s H 30 GaRT Fa¥ fHAT IAT FIT FAT FM?

(A) TE TR 99 T Fa H Fufa o R wwar B

(B) 4.8° (C) 1.2° (D) 2.4°
Ans. D

19. fFelt FHEQAT & Y R=ot Faen 14 cm 31 48 cm 8] FHAGT A

qRfAfa st §:
(A) 80 (B) 160 (C) 120 (D) 100
Ans. D

20. UF ged & HeT UF G ST AT 8] GO AT o[ & a1 AR gea
B 1 3T #4241 82

(A)v2:1 (B)2 : 1(C)1: 2 (D) 1:v2

Ans. A

21. IfE frelt I &Y IAF AT FT 13% TGHRT AT, A $HEF &AB A

gefer g
(A) 27.69% (B) 13% (C) 21.69% (D) 26%
Ans. A

22. IS TR 3MAT Y TAF AT F 22% TGHET AT dl §HF &ABel A



(A)50% (B) 44% (C) 48.84%(D) 46.65%
Ans. c
23. U dR U& AT & HHR A §, O sansh &1 3equra 7 : 4 3] I8
UE A g F IR H o7 fFwehr BFsar aersrer 31.5 cm & =T A 3maq
A B 3o A TS E(n = A0
(A) 36 (B)44 (C)40 (D) 32
Ans. a

24. The area of a triangle is 15 sq cm and the radius of its incircle is

3 cm. Its perimeter is equal to:
(A) 20(B) 10 (C)12 (D)5
Ans. B

25. IedF AT x HIeX arer TF BFi dAge F1 &%, 50 m, 70 m 3R
80 m M3 T T I+ RAFIT AT F &b F e g x F AW
fFad Adcan &2

(A) 63.2 (B) 62.4 (C) 65.5 (D) 61.8
Ans. A

26. Thdl FHCAATE Mo #1 YR R FA1$ FAW: 10 cm AKX 12 cm &, @
YAF ST Y €S FqT 37

(A) 8.5(8)10 (C)13 (D)7.5

Ans. C

27. T TAsraT Y oaw 12 {AY, 35 FAY 3 37 qA B Poger A ol
T §°?

(A) 17 (B) 19 (C) 18.5 (D) 17.5

Ans. C

VOLUME



1. U SR 9 $T % 56 aH6d AR Jas wAer: 132 m? 3R 528
m® §| 9 A Fa$ (m FH) T (=)
(A) 25(B) 22 (C) 32(D)3

Ans. b

2. The area of a field in the shape of a hexagon is 2400/3m* What will be the cost of
fencing it at :18.50 per metre?

(A) T4440 (B) ¥5920 (C) 5550 (D) ¥5180

Ans. a

3. I TF A FT AT 4851 JA B, @Y sHFT g & (RA” H)
(n=¥3ﬁ'ﬁl’(’)

(A)1337 (B)1323 (C) 2772 (D)1386
Ans. d

4. TF 10mx8mx6m AT T IMAAHR ¢ TP I T e F AT FI
gaeR 8¢ 8, W &F A g9« F v A i el 9w (m? #)

ITIGHdT 1I? (SAHAT & Th TUA o)

(A) 370.4 (B) 371.6 (C) 372.9 (D)370.8
Ans. ¢

5. frdlt @9 gl aF T A FAT 924 cm® | I WA A9T$ 18 cm 7, A

SH% IMYR T AIBd (cm’ H) &
(A) 176 (B) 154 (C) 198 (D)132
Ans. b

6. U fAAST & UK & BT 7 cm § 3R 39F TF TS5 FT &G 440
cm? §| 8T 3mTaT (cm®) ) gbrr:m:%mﬁ)



(A) 1760 (B) 1540 (C) 1430 (D)1650
Ans. b

7. frdll degedliTr OF T WA, 37 M F R § owH B, a9 F
TR A BFsar 1 3meh Y oF F 3muR A B 3R gwh FEE F I
FT 87

(A)1:40B)4 :1(C)1:2(D) 2: 1
Ans. d
8. 5 cm fFaR a1 IR o UF q@Y & ORI F 53 g IRomr gasr w1 wqot
USS &% T §em?

(A) 450 (B) 450 (C) 475 (D) 600
Ans. a

9. Ul ¥ TH JAAHR TS HT A 7480 cm® | IE $HH da1$ 1.4 m
%WWE@%@TQcm%,aTﬁ?ﬁIﬂaé(n=g)%:

(A) 1 (B)0.9(C) 0.8 (D) 1.2
Ans. a

10. T Ioldl FT g% YSO1T &ahel AR AT FAM: 264 cm” 3R 924 cm’
3 suh Brsan sk FAT$ # seue = 37 (v = SRl
(A) 4 :3(B)3:2(C)7:6 (D)5:4
Ans. ¢
11. 13824 cm’® 3G aTel UF S el I HHT HAd drel HATS TaAT H

FICT AT 8] A O F O &b adl dlet B gl & o qT%d &
Sl W T I E9:
(A) 8 :3(B)2:1(C)2:3(D)4:3
Ans. d
12. The areas of the three adjacent faces of a cuboid are 32 cm?

24cm? and 48 cm? What is the volume of the cuboid?



(A) 192 (B) 288 (C) 128 (D) 256
Ans. a

13. U Mo & A P 40% FH T AT IAT §| 3TFT 3MAdT fhaar wfaerd
$H g SATTI?
(A) 78.4% (B) 72.5% (C) 60% (D) 64%

Ans. a

14. T Mo & A T 140% 3OF FT &A1 =47 8] 39T AT rda
gfaera 8+ g smeen?
(A) 1282.4% (B) 1382.4% (C) 274.4% (D) 174.4%

Ans. a

15. 21 cm 31§ T AF & Bt F & geollT Bealdh & A FAA: 3 cm
IR 2 cm g cm3ﬁai§$mmmwg’nﬁ?(n=%

(A) 154 (B) 345 (C)286 (D)418
Ans. d

16. T 4F & Beetd & o AR Fodl A BsAw 5 cm 3R 4 cm 3] IR

e I FAE 21 cm & A cm® F sHFT ITATA Fha«T 872 (n=g)
(A) 902 (B) 1342 (C) 1056 (D) 638
Ans. b

17. TF 14 cm 39 4F & Beed & o eardR Basl # Fsaw 5 cm 3R

2 cm 8| cm® &, SHHT AT F4AT &2 (n=%)
(A) 540 (B) 520 (C)572 (D) 560
Ans. ¢

18. T 21 cm 32 4F ¥ Bewts F &) FAOHR BaPl H1 BsAw 5em 3K
3cm 3| cm® #, sHH IIAT FE? (=)

(A) 1020 (B) 1058 (C) 1025 (D) 1078
Ans. d



19.@10.5cm§ﬁ%i§$%ﬁ|$ﬂ:a?aﬁmmﬁa?rﬁm5cm

3 3 cm & cm® &, sEST TAAT 4T 72 (n=%
(A) 564 (B) 545 (C) 552 (D) 539
Ans. d

20. frdll FEFT AF FT HAAA, 3H N F TR g FTah B, aF &
YR 1 BsAT A1 el B oF F YR A BT IR sEP FAE A AT
T 872

(A)1:4@B)4:1(C)1:2(D)2:1
ans. d
21. UTd ¥ UF 9RT A w@1$ 7.56 m §| 3HH Al v snaRe R
FAA: 2.5 cm AR 1.5 cm 3| I &1g F 1 cm® F7 a5 7.5 g 8, @ IS
F a9 & (=)

(A) 71.28 kg (B) 72.82kg (C) 69.68kg (D) 70.14kg
Ans. a

22. T & T TH AR U3 Ve TF HeX o 3| s 3nais Bean
27 cm 7 30X a1q # ofic i AS 9 cm 7 AR F1 Forer v 8, I 1
cm® T & aofeT 8 g 87

(A) 442.4 nt kg (B) 442.4 nt kg (C) 453.6 mkg (D) 441 kg
Ans. c

23. gfg frelt e i Brsam &1 gorem 1 RFT SITe 3R AT o4F F HFAT HeT

AF & 3 IAT HAF ¢, A HeT A4F IR AT AF FY FAE FT IHqUIT FAT G2
(A)9 :4(B)4:3(C)2:9(D)1:3

Ans. b




24. U& d9ad A F MMUR gHAeq §, Fad AR geme 11 @ 3 15
At & aur 3aF T A g 9 JA B IR Now &1 srgawr 1731.6 ga7 J+A

g, d Rex i I (@ #) e
(A) 14.2 (B) 14.8 (C) 15.6 (D)15.2
Ans. b

25. U doldl &I 9IRa% I8 aawer 352 a9 @+ §| Iy 3w Fag 7 A
g, @ 3T AT (AT H) 8 (41, IR B dagdw doa i B #°
20% HH AT ST 8, SEfF WA I 40% F TQHRT AT ¢, A 3qE
ITdsT # gfderd 9Rads fRaar gen?

(A) 10.4%, Prae (B) 1.04%, &fer (C) < gefer, 7 & TEc

(D) 10.4%, Jafer

Ans. a

26. IfE frell oF F YR 1 AW 42 QA T TUT 3T a5 T &

2310 931 @+ 8, aY 3T AT ([HAT H) Fhdar gem?
(A) 38808 (B) 25872 (C) 19404 (D)12936
Ans. d

27. I 32 AFT x 12 QAT x 9 |A fawmart arer fdY gamr Y GAW IER
F ol Tl A FIET AT §, dF Gl & YOI &b a7 &Y "l & Fel TS
QTR HT HUTT FIT FHN?

(A) 32 : 39(B)24 : 35(C) 37 : 48 (D) 65 : 72

Ans. d
28. 1 A, x A 3R 8 VAT =TT T AT W Tfcasw Mt NgaTRT 18

VA A & TH AW Mok H FART fFAT a1 8] x G B arer e #r
S8 aawd (I J ) &
(A) 72t (B) 64m (C) 1441 (D) 100m



Ans. ¢

29. 42 cm =W @ fFH gea ¥ wF Beaws Fe R s 3 IR feaws
F1 F0T 150°F, A 3TFT &% (cm” F) ¥: (== W)

(A) 577.5 (B) 574 (C) 580.6 (D) 564
Ans. a

30. five cubes, each of edge 3 cm are joined end to end. What is the
total surface area of the resulting cuboid, in cm??

(A) 280 (B) 244 (C) 270 (D) 198
Ans. d

31. 13 cm =T arel & ged F v Sfiar, g F 12 cm H gft W F| v
$r deES FIAT 87

(A)7 (B)9 (C)5 (D)10
Ans. d

32. 17 cm B3SAT 9@ T ged & IS Sar, Fg F 15 cm Fr gt W Fua g
Siar &Y J91g F4T 82

(A) 15 (B) 16 (C) 8 (D) 12
Ans. b

33. 2 cm ¥SIT aTel B8 "al 1 AU @ AT 1T 3] a9 cm?® F qRomEHr gy
m@mmm%?

(A) 104 (B) 128 (C) 96 (D) 144

Ans. a

34. 5 cm fFaR e IR g TF @ ¥ ORI { F3 8] IRomHr wemr Fv
YUt 55 SAHA FAT FI?

(A) 450 (B) 500 (C) 475 (D) 600
Ans. A



35. 5 cm <A1 Ik T M F Ngaedt 2 cm BT 9 et § T e

el 3] 39 YHR & Fax qof S g 1 whd §7
(A) 15 (B) 12 (C) 16 (D) 18
Ans. A

36. Ifg et M A Bsam F 4 J qorar Srar § A 3HF T A% H
464ncm® (I |Y) Y FEfer g AT B AT MA FT 3MAAT (T JAT )
faraetr grm?

a. (A) 11‘;79“(8) 35237“ (C) 15225“([)) 152251_[
Ans. d
37. T 3 d&Y & O § HUFTHA WA FT TF AGGdIT ANATDR delel
HIET ST §| AT o<l §§ F3N A G F HAAa H1 fheenr gfaed §2 (@
quith & fdedn)
(A)21 (B) 28 (C) 19 (D) 23
Ans. a

38. U TI@el Mt 91T Y AdRE IR Tl Beuw waw: 6 a#ft g 7 a#ft
¢l 9 T Fel ST &Fh (T At A) e 32

(A) 1831 (B) 1771 (C) 189w (D) 174m
Ans. a
39. & Al & AT HT HIIIT X : y ¢ dUT 3o SATH &I 9T a : b
8] ST SETEAT FT eI FAT B2

(A) xb:ya (B) xb%ya? (C) xa:yb (D) xa%yb?
Ans. b




4o.wwﬁ1®3mm45ﬁwmmmm§ﬁaﬁw%

o 9= s 6 JHA 3 RAufds A Fard @A 7) Faeh 82
(A)20 (B) 15 (C)12 (D) 18
Ans. b

a1. 3.5mﬁwmwmﬂaﬁﬂm#m§3ﬂ%mﬁ§aﬁﬁ

15400 ofiex grelt AT foaT arar 8, @ 9da & STo-FaX H fhasdt gl
(A) 40 (B) 35 (C) 72 (D) 60
Ans. a

42. I ©F B AT FT TF [ &8 3WF Tl SO 817 F1 v fagws ¥,
Al 3 AW AR FAE FT HTITT FAT F?
(A)5:2(B)4:1(c)2:1(D) 1: 1

Ans. b
43. 3.2 ¥ A Bsar A 7.2 FA f FEE F F GH AT S AF

Reaet v 9.6 YA FAE FT FAH Jedld qols TAT AT §| 3 doA &

TR T I fhdar 82
(A) 3.2 (B)3.5 (C)4.5 (D)4.2
Ans. a

44. AR TH TA MATHR I F HUN F AF B 33,% A T R>m Fvam
g 3R 3T SIS e X & STl B, @ derer FT 3T gem:
(A) 1% g STeam (8) 11,% ¥ Prac & Smueh

(C) #¥§ Tgama 7 FPM (D) 11,% 9¢ TN

Ans. b
45. T JTATHFR e Vo 1 o 1 Aex 3R dar$ 1 #Aex §) Ao Il

AT I A g Pac 14 gt aamar g, Y s s F v o &
Ve IR aH fraar aawe (HeX T3t &) gAdT FEM?




(= % CIUELY)
(A) 3560 (B) 3960 (C) 3600 (D) 3300
Ans. d

46. T 8 WHI AT arel 3 U & M F WEATR TH AT HAITY FIE
arell dR St e §] I aR Y Far$ 24 e &, ar sudhr B (@A)
T

() 6(B) 6 (C) 55 (D)5

Ans. ¢

47. 36 W HARF AW FT FUMAFR FERT TF O TaTd § SR I §]
59 ot e F1 3 I 1 Bwr 3R 12 9 3 g deasR didel &
AT g] A 59 FeR F Tl w4 & fav W fFasr aigar i maedswdar
2ef?

(A) 54 (B)36 (C)72 (D)2
Ans. b

48. @& gA Rew &1 3ruR Beoiir § ik st e 20 &4, 21 @4 3k
29 ¥ 3| I swHT Ir¥AA 7560 JAS §, A FHHT U GSAT AABeA (I
aH A) &

(A) 2448 (B) 2556 (C) 2520 (D) 2484
Ans. ¢

49. UF B U ' GHWT NI F dieT gairiy 3 Fler Sar § 59 TH6R
qare arv fdt oft o gement F S &1 & Aer AR AT uTr F qSET & F
HAITT FAT GHM?

(A) 27 : 10(B)9 : 8(C)27 : 16 (D) 9 : 10
Ans. d
50. Tk §H RMAZ FT 3TUR TF 8 Wl F1 Foag BHor § 3R gweh S8

243 QA B o NURAT 1 3maasT (@ #H) ¢



(A) 384 (B) 576 (C) 1152 (D) 480
Ans. a

51. §eT & THR dld Tk oo &Y dare 12 #HX & IT 598 18 Fralx
g fATer foraT SITar @ Y sud1 I T 30 9 AT ger Sar @) &
Tt (FHex &) frasr &2

(A) 5 (B)4.5 (C)4 (D)5.5
Ans. a

52. TR ST Mo T HOAFITH ITTTT ITAT TF MAT FIEHT AFTT AT
e 3 T g B Tard F HAGA FT I FAT §?
(A)1:4B)1:3(C)1:1(D)1: 2

Ans. b

53. 2.8 HleX BT aran, T 15 #Hiex ME F3M @eT I § I HR fAweh
fedt A e FF 8 Hiex dlsr AR 1.5 HeX FAT vF  AG@q ST S
8] 59 TR Y W9 F 2 (n =2 AW

2
(A) 28.8 (B) 30.8 (C) 30.2 (D) 28.4 [
Ans. b

54. U oF Gedld ol & JUR H Bam 20% o1 & S ¥ swh Fand
N Thdar yfaerd F7 FT feIr Se aifr 39T JTIaT 9ge [odar & 941 W©?
(A) 28 (B)30§(C) 25(0)303

Ans. d
55. 12 AT 3MUR BT arer 3K 15 A 3T tF W T F AT n

et soT I ¥ T ¥ TAF Rl F1 HFR dEgT 0F 3| TES

f@alar 9 AT Fur § aur Menet i B 3 A & n FT HAT F4T 82
(A) 27 (B) 64 (C) 54 (D) 48
Ans. d



56. U o« s 1 a1 18 Al §, IUT $HHT ITUR T e &, foraehr
ere 5 FAY, 8 JAY 3 12 JA ) FHFT IR Io-a1T (I AA A) e
7

(A) 432 (B) 450 (C) 486 (D) 468
Ans. b

57. 10.5 ¥ B=ar 3k 120° FHT For Tt vH BoT-Gs (JFR) F TH
a@aﬁ#m,mamﬁwaﬁﬁmmmamﬁaﬁgce@

HT ATITA F4T 82 (cm® H)
(A) 343\/_ 343\/_ 343\/_ 343\/_

m (B) m(C) (D)
Ans. a
58. 41 N & W eIy Mell F AuaHT v W IR &5 18 ATl
g, foadr B 39 gt 7 @ 3 0T § AUT SHH IS gl Ma

fasar & 4 aom 3] N =7 AT fovaer 872
(A) 30 (B)27(C)24 (D)36
Ans. b

59. U Weqedld doiel & TR A Boar 3 A § a1 s8F1 T T5o-81
60T g FHY 8] JoIeT &1 AT (VAH® ) fFdar &7
(A) 81m(B) 721 (C) 90w(D) 60~

Ans. ¢

60. T @rE@er ref-aaret arer dasT HT HaRF I 24 A B I8 9 0.5
Mmaémwﬁﬂm(&ﬁt)#mgm%wﬁﬂmgﬁrwm
(@31 A &) fraer 82

(A) 468.75mt (B) 600.5m(C) 600.2w (D) 612.75™
Ans. d




61. U dagcdid A4F T AT 3R FU$ FT 39T 5 ¢ 12 3| $HHT Th T

&7 816.4 T [T §] UF &1 AT (FA° F) Fraam 82 (n = 3.14 #7AWA)
(A) 3140 (B) 628 (C) 2512 (D) 1256
Ans. ¢

62. UF WH Jodlid A4F F YR FT &% 400n ¢ 3R swhr Fa$ 15 |
gl UF FT IF TEHT a7 (FF ¥ A) B
(A) 5007t (B) 4807 (C) 450T (D) 560m

Ans. A
63. TH FA-TMAT &1 YR vF FAEE B §, Srwer awa 16v3 ot

A 3] I 39F Py v gy woasw &1 aFwe 30 T QAT 7, a 3HH
FOTS (QHT H) Fa1 872
(A) 5> (8) |=(C) J%(D) et
Ans. C
64.4 cm TB=AT It T M I WHATHT 2 cm BFSAT ek Be-BIE Mol A0

a8 W frder M 9491 ST FFhA 82
(A) 8(B)4 (C) 16 (D) 32
Ans. A



